
 
 
 

 
 
 
 
 

20-OCT-2022  1/3 

 

© 2022 Williams-Sonoma, Inc.    A 
 

Williams-Sonoma Inc. 
 

Assembly Instructions 
Instructions d’assemblage 

Instrucciones de Ensamblaje 

Pottery Barn – Pottery Barn Teen – Pottery Barn Kids – Williams Sonoma Home – West Elm – Rejuvenation – Mark and Graham 

 

 

 

 

                                

 

 

 

 

ASHFORD Hook/Hook Rack 
ASHFORD Porte-Crochets/Crochets 

ASHFORD Gancho/Estante De Gancho

Hook 

Accrocher 

Gancho 

 

 

Hook Rack 

Support à crochets 

Estante de gancho 

 



 
 
 

 
 
 
 
 

20-OCT-2022  2/3 

 

© 2022 Williams-Sonoma, Inc.   A 

Williams-Sonoma Inc. 
 

Assembly Instructions 
Instructions d’assemblage 

Instrucciones de Ensamblaje 

Pottery Barn – Pottery Barn Teen – Pottery Barn Kids – Williams Sonoma Home – West Elm – Rejuvenation – Mark and Graham 

CALIFORNIA PROPOSITION 65 WARNING: This product can expose you to chemicals including Lead which is known to the State of California to cause 

cancer and birth defects or other reproductive harm. For more information go to https://www.p65warnings.ca.gov/ 

AVERTISSEMENT RELATIF À LA PROPOSITION 65 DE LA CALIFORNIE: Ce produit contient du laiton qui contient des composants qui contiennent du 

plomb, un métal lourd connu dans l’État de la Californie pour causer le cancer, des malformations congénitales ou autres dommages au fœtus. Pour 

plus d'informations allez à https://www.p65warnings.ca.gov/ 

ADVERTENCIA PROPOSICIÓN 65 DE CALIFORNIA: Este producto contiene componentes de ferretería de bronce, que contiene plomo, un metal 

pesado que es conocido en el Estado de California por causar cáncer, defectos de nacimiento y otros daños reproductivos. Para obtener más 

información, visite https://www.p65warnings.ca.gov/ 

 

TOOLS NEEDED: Phillips screwdriver, Pencil, level, 1/16” drill Bit, 3/16” drill bit, drill. 

 

 

 

PARTS INCLUDED:

HOOK 

• 1pc Hook 
• 1pc Mounting Bracket 
• 2pcs #8-15*22 Tapping Screws  
• 2pcs Anchors  
• 1pc Set Screw 
• 1pc Allen Key 
 

HOOK RACK 
• 4pcs Hooks 
• 1pc Hook Rack Riveted With Mounting Brackets 
• 8pcs #8-15*22 Tapping Screws 
• 8pcs Anchors 
• 4pcs Set Screws 
• 1pc Allen key 
• 1pc Mounting Template 

                          
  Hook  Mounting  Screw  Anchor  Set  Allen  Hook Rack     Mounting 
   Bracket       Screw Key  with Mounting brackets  Template 

 
The maximum load capacity for the Hook is 20 LBS. 
The maximum load capacity for the Hook Rack is 70 LBS. 
 
 
 

MOUNTING INSTRUCTIONS FOR TYPICAL DRYWALL APPLICATIONS: 

1. Use the mounting bracket as template to decide the anchor position on the wall for the Hook; Use the provided 

paper template to mark desired mounting location on the wall for the Hook rack. 

2. Predrill all locations with 1/16” drill bit. If resistance is felt, you are at a stud location. Do NOT use an anchor at this 

location. Just use the screw. 

3. For locations where NO resistance is felt, predrill for the anchor with a 3/16” drill bit. Use a Phillips screwdriver to 

insert the anchors.  

4. Insert the tapping screws to secure Mounting bracket / Hook Rack with Mounting Brackets to the wall. 

5. Slide the hook(s) over backplate then secure it / them with set screw(s) using the supplied Allen key. 

 

 

 

 

https://www.p65warnings.ca.gov/
https://www.p65warnings.ca.gov/
https://www.p65warnings.ca.gov/


 
 
 

 
 
 
 
 

20-OCT-2022  3/3 

 

© 2021 Williams-Sonoma, Inc.   A 

Williams-Sonoma Inc. 
 

Assembly Instructions 
Instructions d’assemblage 

Instrucciones de Ensamblaje 

Pottery Barn – Pottery Barn Teen – Pottery Barn Kids – Williams Sonoma Home – West Elm – Rejuvenation – Mark and Graham 

 

 

 

 

 

 

 

 

 

 

 

 

 

INSTRUCTIONS DE MONTAGE POUR LES APPLICATIONS TYPIQUES DE CLOISONS SÈCHES :  

1. Utilisez le support de montage comme modèle pour décider de la position d'ancrage sur le mur pour le crochet ; Utilisez le gabarit en papier 

fourni pour marquer l'emplacement de montage souhaité sur le mur pour le support à crochets.  

2. Prépercez tous les emplacements avec une mèche de 1/16 po. Si une résistance se fait sentir, vous êtes à un emplacement de poteau. 

N'utilisez PAS d'ancre à cet endroit. Utilisez simplement la vis. 

3. Pour les endroits où AUCUNE résistance n'est ressentie, pré-percez pour l'ancrage avec une mèche de 3/16 po. Utilisez un tournevis 

cruciforme pour insérer les ancres. 

4. Insérez les vis taraudeuses pour fixer le support de montage / support à crochets avec supports de montage au mur.  

5. Faites glisser le(s) crochet(s) sur la plaque arrière puis fixez-le(s) avec la(les) vis de réglage à l'aide de la clé Allen fournie.  

INSTRUCCIONES DE MONTAJE PARA APLICACIONES TÍPICAS DE PANELES DE YESO:  

1. Use el soporte de montaje como plantilla para decidir la posición de anclaje en la pared para el gancho; Use la plantilla de papel provista 

para marcar la ubicación de montaje deseada en la pared para el estante Hook.  

2. Pretaladre todas las ubicaciones con una broca de 1/16". Si siente resistencia, se encuentra en una ubicación de montante. NO use un ancla 

en esta ubicación. Solo usa el tornillo. 

3. Para lugares donde NO se sienta resistencia, taladre previamente para el anclaje con una broca de 3/16”. Utilice un destornillador Phillips 

para insertar los anclajes. 

4. Inserte los tornillos autorroscantes para fijar el soporte de montaje/la rejilla de ganchos con soportes de montaje a la pared. 

5. Deslice los ganchos sobre la placa posterior y luego asegúrelos con los tornillos de fijación utilizando la llave Allen suministrada. 

CARE INSTRUCTIONS 

1. Dust often using a clean, soft, dry and lint-free cloth. 

2. We do not recommend the use of chemical cleansers, abrasives or furniture polish on our lacquered finish.  

3. Hardware may loosen over time. Periodically check to make sure all connections are tight. Re-tighten if necessary. 

INSTRUCTIONS D'ENTRETIEN 

1.   Époussetez souvent à l'aide d'un chiffon propre, doux, sec et non pelucheux.  

2.   Nous ne recommandons pas l'utilisation de nettoyants chimiques, d'abrasifs ou d'encaustique pour meubles sur notre finition laquée. 

3.   Le matériel peut se desserrer avec le temps. Vérifiez périodiquement que toutes les connexions sont bien serrées. Resserrer si nécessaire. 

INSTRUCCIONES DE CUIDADO 

1.   Desempolve a menudo con un paño limpio, suave, seco y sin pelusa.  

2.   No recomendamos el uso de limpiadores químicos, abrasivos o cera para muebles en nuestro acabado lacado.  

3.   El hardware puede aflojarse con el tiempo. Verifique periódicamente para asegurarse de que todas las conexiones estén apretadas.  Vuelva a apretar si es necesario. 


